[bookmark: _Hlk138603378]CONVERTIR 
350 L 25 cL = ….cL = …..L
CONVERTIR 
9 hg 18 g = ….g 
= …..hg
CONVERTIR 
73 km 18 m = ….m     = …..km





CONVERTIR 
7 kg 15 g = ….g 
= …..kg
CONVERTIR 
2 m 63 cm = ….cm = …..m

CONVERTIR 
 58 m 482 mm 
= ….mm = …..m





CONVERTIR 
42 kg 6 g = ….g 
= …..kg
CONVERTIR 
4 g 5 mg = ….mg 
= …..g
CONVERTIR 
234 m 5 mm 
= ….mm = …..m





CONVERTIR 
50 L 8 mL = ….mL = …..L
CONVERTIR 
8 hL 9L = ….L = …..hL
CONVERTIR 
7 L 562 mL = ….mL = …..L






CONVERTIR 
7 km 3 m = ….m 
= …..km
CONVERTIR 
65 dag 8 g = ….g 
= …..dag
CONVERTIR 
8 cL 9 mL = ….mL = …..cL





CONVERTIR 
28 km 6 dam 
= ….dam = …..km
CONVERTIR 
62 L 56 mL = ….mL = …..L

CONVERTIR 
93 kg 5 dag 
= ….dag = …..Kg






73 km 18 m 
= 73 013 m 
= 73,013 km

9 hg 18 g 
= 918 g 
= 9,18 hg


350 L 25 cL 
= 35 025 cL 
= 35,025 L


62 L 56 mL 
= 62 056 mL 
= 62,056 L


93 kg 5 dag 
= 9 305 dag 
= 93,05 kg


62 L 56 mL
 = 62 056 mL 
= 62,056 L


8 cL 9 mL 
= 89 mL 
= 8,9 cL


65 dag 8 g 
= 658 g 
= 6,58 dag

7 km 3 m 
= 7 003 m 
= 7,003 km


50 L 8 mL 
= 50 008 mL 
= 50,008 L


7 L 562 mL 
= 7 562 mL 
= 7,562 L


8 hL 9 L 
= 809 L 
= 8,09 hL


234 m 5 mm 
= 234 005 mm 
= 234,005 m

4 g 5 mg 
= 4 005 mg 
= 4,005 g

42 kg 6 g 
= 42 006 g 
= 42,006 kg

7 kg 15 g 
= 7015 g 
= 7,015 kg

58 m 482 mm 
= 58 482 mm 
= 58,482 m


2 m 63 cm 
= 263 cm 
= 2,63 m


